C
1a) 98cm’ b) 46cm
2 a) 350am? b) B6cm

3a) 252cm? b) 70cm
4a) 276an’ b) 94cm
5110m

6a) 2-2m (220cm)  b) 2000cm? c) 3000cm?

7 a) 180m? b) 240
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A
1| Length Width Area
6cm 4cm 24 cm?
8cm Scm . 40 cm?
11m 3m 33m?
9m 6m 54m?
1Z2cm 8cm 96 cm?
40 cm 10cm 400 cm?
15m 2m 30m?
8m 7m 56m?

2 B is 2cm? larger than A.

3 D is 1cm? larger than C.
4 F is 2 cm? larger than E.

5 G and H have equal areas.
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B

1 Ais 7m? larger than B.

2 Cis 2m? larger than D.

3 Fis 1m? larger than E.

4 G is 1 m? larger than H.
5 I is 3m? larger than J.

6 K and L have equal areas.

C

1 A has 1 m? more display area.

2 C has 5m? more display area.

3 E has 4 m? more display area.

4 G and H have equal display areas.
5 1 has 2m? more display area.
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A
1a) 120m b) 800m? 5a) 110m
2a) 120m b) 900m? 6a) 110m
3a) 160m b) 1200m? 7 a) 140m
4a) 160m b) 700m* 8a) 110m
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B
la) 74m b) A120m? B 180m®
2a) 156m b) A240m® B 160m?*
3a) 88m b) A180m? B 180m*
4a) 120m b) A300m* B300m*
5a) 132m b) A500m? B390m*

6 Perimeter = 28m
7 Perimeter = 341m

C
1 768 m? 3 1400 m? 5§ 960m?
2 523 m? 4 476 m? 6 500m?

¢) 2500cm? 0-25m?

b) 600m?
b) 700m?
b) 1200 m?
b) 750m?

¢) 300m?
¢) 560m?
c¢) 360m?
c) 600m?
c) 890m?

7 1116 m?
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A
la) 4 b) 2 ) 6cm?
2a) 5 b) 4 ¢) 9cm?
3a) 6 b) 2 c) Scm?
4a) 7 b) 2 ¢) 9cm?
5a) 4 b) 2 ¢) 6cm?
6a) 5 b) 3 c¢) 8cm?
7a)7 b) 1 c) &cm?
8a) 6 b) 6 ¢) 12cm?
9a) 7 b) 5 ¢) 12cm?
10a) 6 b) 2 ¢) 8cm?
11a) 5 b) 1 c) 6cm?
12a) 7 b) 9 c) 16cm?®
13 a) 17 b) 1 ¢) 18cm?
14 a) 8 b) 4 ¢) 12cm?
15a) 8 b) 8 ¢) 16cm?
16 a) 12 b) 6 ¢) 18cm?
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A
1a) 12cm? b) 12 c) 24cm’
2a) 17cm? b) 7 ¢) 24cm?
3a) 15cm? b) 3 ¢) 18cm?
4 a) 24cm? b) 8 ) 32cm?
5a) 14cm® b) 6 ) 20cm?
6 a) 18cm’ b) 6 ¢) 24cm?
7 a) 14cm’ b) 4 ¢) 18cm?
8a) 13cm? b) 11 c) 24cm’
9 a) 20cm? b) 7 c) 27cm?
10 a) 21cm? b) 3 ¢) 24cm?
11 a) 9cm? b) 27 c) 36cm?
12 a) 12cm? b) 15 ) 27cm?
13 a) 14cm? b) 18 c) 32cm’®
14 a) 27 cm? b) 9 c) 36cm?
C
1a) 18 b) 5 ¢) 90cm?
2a) 40 b) 4 ¢) 160cm?
3 a) 60 b) 3 c) 180cm?
4a) 36 b) 4 c) 144cm?
5a) 100 b) 12 c) 1200cm’
6 a) 135 b) 4 c) 540cm?
7 a) 42 b) 2 c) 84cm?
8a) 20 b) 3 c¢) 60cm?
o[ Tengh | Width | Height | Volume
7 cm 2cm 3cm 42 cm?
25¢m 10cm 12cm 3000 cm?
6cm 4cm 5cm 120 cm?
§cm 3cm 4cm 96 cm®
1Z2cm 8cm S5cm 480 cm?
Scm Scm 6cm 270 cm?
15cm 6cm 4cm 360cm?
10cm 7-5cm 6cm 450 cm?
10 8000 cm?
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